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1. Answer the following questions : 1x8=8
O 2pTRa Tl i

(a) What is a device driver?
Device driver &2

(b) Why are link-time or linker error messages displayed?
Link-time 1 linker error messages ¥ 9 2mPfe =77

(c) Why is the conditional control structure used?
Conditional control structure . q<=1s F1 772

(d) Name two functlons that are used to generate random
- numbers. ‘

Random numbeﬁﬁ[b: generate T A BIECIE RN ’;ﬁﬂ
function-9 =ty feragr 1 - -

(e) How is a function declaration d1fferent from a function
' definition?

Function declaration 96l function definition 9@ N
fFe1g 42 2
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- (2)

(f/ What is meant by scope?
Scope i & g ?

(g) What is the data type of elements of an array called?’
Array €N elements¥=d data type-3 & Ife (a1 =2

(h) How is a two-dimensional array defined?

fa-wfee =@ 9o /7 define 391 =82

2. Answer any ten questions from the following : 2x10=20
T R (I wRBI 29 Twd o
(a) Why is analytical engine often called the pioneer
computer?
Analytical engine-< % &C¥ pioneer computer I I
7 ‘

(b) How is a compiler different from an interpreter?
Compiler 901 fFeI7 interpreter QHroF %AF 2

(c) Convert the hexadecimal number 9F2,¢ to binary.
Hexadecimal number 9F2 4 ¥ (7© R 8T 41 |

(d) State two differences between CISC and RISC
computers.

CISC 5% RISC F*{S5<12d II&is 161 AN Teax 41 |
(e) What is the result of the following expressions given
that a =10, b=157?
a =109 b =15 i fFcer woig IFETI Fores & 2'32
(1) (a++)*(++ b)
(ii) (++a)*(++Db)
(iii) S0/ a*b
(iv) b%a + +
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(3)

(f) Write the uses of endl and setw().
endl 9= setw( )-3 IITLHZ {41 |

(g) What is syntax? What are syntax errors?

Syntax & ? Syntax @bz & %2

(h) What is meant by modular approach to programming?
What is the advantage of modular programming?

Programming-4 modular approach 3Ifwa & Iwm?
Modular programming-3 3R¥1 %27

(i) What are prologues? How can prologues be given. in
e

Prologuesz R ? C++-9 prologues iz @t 7 AR 2

() Convert the following if-else statement to a single
conditional statement : :

o if-else SfSHl Wbt Y@ conditional Sfsta = o491

if (x >=200)
y =z+ S0,

else ‘
y=2z

(k) When is a default argument value used inside a
- function? When are the default values specified?

Function 96t default argument YRR (FT T W
Default I5 92 (A1 specify 391 292

(I) Distinguish between the following functions :
wed function Y=Y e Y 7ol

‘putchar() and / 9= puts()
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(4)

(m) Write the output of the following program :
THR 2NN FeNee 'Y fore

#include <iostream.h>
void main( )

{

int al4],i;

for (1 = 0; 1<4; 1++)
alfi] = S*i;

for (i = 0; 1 <4; i+4)
cout<<a [i];

}

3. Answer any nine questions from the following : 3x9=27

O] R (1A F6Y eF Tex o

(a) Why is binary language often termed as machine
language? Why is machine language required? 2+1=3

(7S SIS Ay 37 SN I 59 1w =0 7 17 o[ 7w e 2

(b) Define the followi:ng terms ': . 1x3=3
O term TR I 9 ¢
(1) cylinder
(ii) tracks
(iii) sectors
(c) Distinguish between una:y; binary and ternary

operators. Give examples of C++ operators for each one
of them. ; 1x3=3

Unary, binary ¥ ternary operatoriifd &{ N
w1 | 2fS6R AT C++ operator Y=y TwRId il |
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(S)

(d) What output will the following code fragment produce

for the inputs given below? Give reasons. 1x3=3
TR 2 Weq o[ B wewe (ol ) were WAl input YRR AR ?
BGRRIERTRIN

int val, res, n = 1200;

cin>>val;

res = n+val> 1850 ? 600 : 300;

‘cout<<res;

(i) If the input is 1900
Tft input 1900 =¥

(i) If the input is 1100
T input 1100 =¥

(iii) If the input is 750
I input 750 |

(e) Write a C++ program to take three numbers from the
user and to find and print the largest number. 3

AT o[ ORGSR gm IR ABEFSE T AN AR
Tferi® welMe I GBI C++ e fon |

() Write the guidelines that should be followed while
dealing with identifiers. 3

Identifiersy=d #1® deal S REAR ME-Frw =W 1 e
IRTNIN

!

(9) Why is a loop used? Define the two types of loops.
1+1+1=3

Loop bl 1 WW 2 7 4 $3°F loop Y= 91 41 |
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(6)

Consider the following code fragment and rewrite this
code without using break and continue. 2

e 49 code-(b1 R I’ break S continue IR
F3AF code-(B1 o foran 1 '

int line = O;

char ch;

cin >>ch;

while (ch! = ‘&)

{

cin>>ch;
if (ch = = ‘Q))
break;
if (ch! = \n’)
continue;
line++;
}
Write a C++ program to calculate the factorial of a
positive integer. 3

YT STAS H OB¥ factorial SEERI I @61 C++ 2fea ford |

Write. a C++ program that reads two strings and
appends the first string to the second. 3

7B string “ftta f@8W string-(0" #® first string-CBl
append IRICA GBI C++ e & |

Find and correct the errors in the following program : 3
SO 2CANCOIS A Td ol Sferean o wm 41 ¢

#include <iostream.h >
void main( )

{

char str [20]; .

cout << “Enter the string:”;

gets (str); ;

len = strlen (str);

cout << “The length of the string is:”<<len;
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(7))

() Ilustrate the use of #define in C++ to define a macro. 3
Macro 95! define ¥R3% q@ C++-% #define-3 IR RIA
ENENECTIN

4. Answer any three questions from the following : 5x3=15

w1 i (e oo erve ey

(@)

(b)

(d)

C7/44

What is an integer constant? Write integer constant
forming rule of C++. Explain the three types of integer
constants allowed in C++. 1+1+3=5
Yy FIT GO F 2 C++-7 WYs £TF 5107 I A feii | C++-©

1 TORYRTR Se P T 41 |

Explain the uses of the C++ shorthands (+=, —=, *=,
/=, %-=). 1x5=5
C++ shorthand™ g (+=, —=, *=, /=, %=)-3 ITTFHZ WA
BTN

Write the functions of the following header files : 1x5=5

weq header filev =y IR 1
(i) ctype.h
(i) math.h
(iii) string.h
(iv) stdio.h
(v) stdlib.h

Write a C++ prograzn to count number of words
present in a line. S

M GBS AP =AY ST SR FRIF AT @61 C++ ofeaw foran 1 |
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( 8)

(e) Define a structure variable called vehicle. Assign its
part qumber as “RSMO00S”, its price as 573 and the
quantity needed as 5. Then read in the three members
for the second part. Do not assign any values to the
third part.. ' 5
Vehicle F¥ @b structure variable define 41 | 277 I
¥ ““RSMO005”, ¥ 573 W& 2m&an R\ 5 o ¥
fAvesss 911 &8y o I @@ RBR memberiyz read I |
P A6 AT @I T FFEF $RI A=irest |

* % %k
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BANKING

Full Marks : 100

Time : 3 hours

The figures in the margin indicate full marks for the questions

1. Answer as directed : 1x8=8
fRorfs Tes fum
(a) In which year were the Presidency Banks of India
amalg_amated?

TReT (elfbref (TR (T e GFAIFI I (>E ?

(b) The Banking Regulation Act was passed in the year
s ( Fill in the blank )

T Iz =R DO AT 0 02" |

QCIREGEES D

(c) What is barter system?
Rt g 2

(d) State a characteristic of inflation.

JurHIReT o1 I8 Sees =41 1 -

(e) Write the full form of ATM.
ATM- = F°{ch! for |

(f/ Who is a bank customer?
CRRIY AT (P ?
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(g) Overdraft facility can be availed in current/
savings/fixed deposit account.
( Choose the correct answer )

sfere / e / Bf ww Bpere wifeds SR comn am
(o TeIC01 AR Sfere )

(h) Write what is indigénous banker.

Ragm s 3, faar

2. What do you mean by trade cycle? 2
e Iferea 1 w2

3. Give the meaning of 'Bankjng Ombudsman. 2
(2 TR S o | o

4. Write 'two advantages of current account. 2
BECRENLER TR ISORC R '

5. Name any two public sector banks of India. 2
SReIAT R I 7B e 19T R = Fyai o

6. State two important functions of commercial bank. 2
AfAfETE R o1 @Feyd IR TeEY I | |

7. What are the different types of e-banking services? 3

fifen =R 2-@sfR cRaR 1§ 2
8. Explain the types of loans given by the of commercial

bank. <
AffETF T SerRceR RiSH aF) ¥R [0 441 |
9. State the procedure of opening joint account. . 3
(MY o191 (IR *1afS 301 41 |
10. Explain why Central Bank is called ‘lender of last resort’. 3
I QTF W [3O9 e’ fprest [F9 s1en F0 =™, I 790
11. State any three stimulating effects of inflation. 3

TurFIed R @1 fRo1 Trafagers oo Sray 4 |
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13.

14.

1S.

16.

17.
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( 3)

Discuss the general utility functions of a bank.
CIRFI GEAIAAN A S P |
State about licencing of banks.

IR Tl Racn Teag 9 )

What are the differences between Commercial Bank and
Central Bank?

RETF QT T (FTT @I e 471 NFAA & 2

Describe the characteristics of regional rural bank.

wefers &l (33F9 (ARERAR I F41 |

Explain the techniques of creating credit by a commercial
bank.

R @3 4 SR =r=fSCo1 /1 0

What are the main phases of trade cycle?

| 31fees vard g ez B 6 2

18.

19.

C7/30

Or / #IZ1

Explain the meaning of depression.
g S I

State any two selective credit control techniques adopted
by the RBIL

Rers @ 2494 39 R @ 701 IRFEe 99 fmger orafs SrEe 41 |
Or / 7331

Describe the procedure of opening a bank account in the
name of a minor. -

AR TS (TS 311 (AR *1afs I 3441 |

Discuss the evolution, origin and growth of banking in
India.

SRS (R NI, TS S Tz Ry W™ <641 |
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Or / 71%q1

What do you mean by internal and external organization of
commercial bank? Describe the different departments of a

commercial bank. 4+4=8
T T oA WF IR I B w2 e @
Rfen Resr Ry seams-n <41 |

20. Discuss the causes and effects of inflation. 8
'ﬂﬁ?@lixﬁ PR ¥ FeARPPTYR HACADAT 1T |

21. Explain in brief the various functions of the Central Bank. 8
@A 339 RiSa IS vy T 391 |

Or / 731

Explain the functions of Central Bank as (a) Bank of note
issue and (b) Banker’s bank. 4+4=8
(@) A6 263 WF (b) (I (3 Bolesl (T ([P I 3900 390 1

22. Write short notes on any two of the following : 4x2=8
oo IR R CRICA1 YBIR 5 O ot

(a) Banker’s clearing house
AT RNy ST

(b) Investment bank
Rifvce @

(c) Recession
RECIE

(d) Overdraft
g

(e) Pay-in-slip book
1-2-Tae1 =

% ¥ %k
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BUSINESS STUDIES

Full Marks : 100
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The figures in the margin indicate full marks for the questions

1. Answer as directed : 1x8=8
FotrgE@ Teg fiul :
(a) ADRs can be issued in which of the following
countries?

e @MY (e ADRs Rfs 3fR9 ik 2
(i) Japan
I
(i) USA
AT TS
(i) Canada
Eani
(iv) India

{9
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(2)

(b) Can a public company commence business after
obtaining Certificate of Incorporation?

Q] G2 (AT FRETIR 29eea o F99 Pige 9w
8 PRI I ?

(c) Write the full form of EFT.
'EFT-3 7% o8t s |

(d) In which year was the National Small Industries
Corporation (NSIC) set up?

National Small Industries Corporation (NSIC) 3= 5@
effoRl 1t 2

(e) Which document is issued by a company to invite
public to purchase its shares?

Q51 @A TR X T FRAA SPNYRIS SZ SCAEl
Wiy w5 2

(f) Write one objective of SIDBI.
SIDBI-3 961 Sty o720 |

(g) What is the full form of E. & O.E.?
E. & O.E.-3 59 S°[ol 5 2

(h) Write one disadvantage of mail order business.

TRPECS I IPTAI 9O1 SR 14 |
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2. What is limited partnership? 2
S s[5 2
3. Distinguish between Private Sector and Public Sector. 2

P[rETS 48 IF IS ST qwo 21257 B4 |

4. What is bonded warehouse? 2

WHEA meng 2

5. What is e-business? 2
ESIEL IRt

6. What is Articles of Association? 2
wrerEar faEe 2

7. Briefly explain the benefits of joint venture. 3
A SrHIa SAPIROPIFZ G I 41 |

8. Write three utility functions of a bank. 3
59 TR0 Sercafororyere TR o1 |
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9. Briefly explain the social responsibilities of a business
towards Government. 3

5IIRA 2ifS A1 T AT MERTerR YF I F |

10. Write a note on public deposit. 3

e HNFe] [T b1 Gt fora |

11. Write about the Bill of Lading. 3

wRIeR 2999 ]y e

12. Explain the features of multinational company. S

AENOT (IR CIFBPTIR I 3531 |

13. Explain the functions of warehouse. - S

ATISIR] TR [ 97 |

14. Explain the resources required for successful

implementation of e-business. S

R-PT T MR I AT SFooreTyed e 34 frea |

C7/42 ( Continued )



BIKALI COLLEGE LIBRARY

(S)

15. Explain the elements of business ethics. 5

[T CAfoToR TSR I 1 |

16. Explain the steps involved in formation of a private limited
company. 5

9Bl ST (Pl 51571 F91 QiTS AR I T4 |

17. Explain the role of small-scale industries in rural areas. S5

S SEETS TG SIS SN I FA

18. Explain the importance of international business. 5

W@BIB T SFG A I |

19. What is business risk? Explain its causes. 2+6=8

- IEET 2 T FREEIE T A
Or / <1

Discuss the various types of industries with suitable
examples. 8

ToRE Trrged (s Srae [RISH e ReTE S 391 |
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20. Discuss the basic factors to be considered while starting a
business. 8

A0 IR ARG FIR TS R IRIATA 2w PREHR. Sl
3

Or / 93T

What is joint Hindu family business? Explain its features.

2+6=8
A T2 “ifeame e 2 TR RFEETE 3¢ v
21. What is preference share? Explain its different types.
2+6=8
QNPT wieer 1 2 TR Rfen ez 3ofar 1 1
Or / |31 _
What is share? Explain its features. 2+6=8
YR S0 6 7 T REPTR 309 990

22. What is consumers’ cooperative store? Explain its merits
and demerits. 2+3+3=8

2ATZF TR SIS 76 2 2" Rer S SpIRapTE I 9 |
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Or / 941

Who is a wholesaler? Explain the services rendered by the
wholesaler towards retailers. 2+6=8

*fiZFRl Kool @2 oiReR ok PHA Rerormeetes  SNeR_eesl
CTAPTR 91 1 |
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